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How to use this book


Welcome to Hodder Education’s MYP by Concept series! Each chapter is designed to lead you through an inquiry into the concepts of history, and how they interact in real-life global contexts.
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KEY WORDS


Key words are included to give you access to vocabulary for the topic. Glossary terms are highlighted and, where applicable, search terms are given to encourage independent learning and research skills.
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As you explore, activities suggest ways to learn through action.
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ATL




•  Activities are designed to develop your Approaches to Learning (ATL) skills.
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Assessment opportunities in this chapter:


Some activities are formative as they allow you to practise certain parts of the MYP History Assessment Objectives. Other activities can be used by you or your teachers to assess your achievement against all parts of an assessment objective.
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Key Approaches to Learning skills for MYP History are highlighted whenever we encounter them.
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Hint


In some of the activities, we provide hints to help you work on the assignment. This also introduces you to the new Hint feature in the on-screen assessment.
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Information boxes are included to give background information, more detail and explanation.




[image: ]










[image: ]



EXTENSION


Extension activities allow you to explore a topic further.
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Take action




•  While the book provides opportunities for action and plenty of content to enrich the conceptual relationships, you must be an active part of this process. Guidance is given to help you with your own research, including how to engage in historical research, guidance on forming a research question, as well as linking and developing your study of the past to events happening today. This should give you a better understanding of global issues in our twenty-first century world.
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You are prompted to consider your conceptual understanding in a variety of activities throughout each chapter.






[image: ]



Links to:


Like any other subject, History is just one part of our bigger picture of the world. Links to other subjects are discussed.
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We will reflect on this learner profile attribute …


Each chapter has an IB learner profile attribute as its theme, and you are encouraged to reflect on these too.
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Finally, at the end of each chapter, you are asked to reflect back on what you have learnt with our Reflection table, maybe to think of new questions brought to light by your learning.
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  Change  


  Innovation and revolution  


  Scientific and technical innovation  


1 How revolutionary was the Industrial Revolution?


Innovations in science and technology can lead to revolutionary changes in the ways we live and work.
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IN THIS CHAPTER, WE WILL …





•  Find out how environmental, political, social and economic factors led to revolutionary changes in industry and working conditions in Britain and Japan.



•  Explore:









    •  the key events and changes that led to the Industrial Revolution



    •  the relationship and links between causal factors and the impact of revolutionary change on societies



    •  the relationship between innovation and revolution.








•  Take action by exploring where child labour still exists today.
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CONSIDER THESE QUESTIONS:


Factual: What factors are necessary for industrial revolutions to occur? What factors were necessary for the Industrial Revolution to start in Britain? What key inventions drove the Industrial Revolution? Why did an Industrial Revolution start in Japan? What reforms were implemented in Meiji Japan?


Conceptual: How are causal factors linked? Can innovations lead to revolutionary change?


Debatable: To what extent can innovation and revolutionary change bring benefits to society? Did industrialization create more winners than losers?


Now share and compare your thoughts and ideas with your partner, or with the whole class.
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These Approaches to Learning (ATL) skills will be useful …




•  Collaboration skills


•  Communication skills


•  Creative-thinking skills


•  Critical-thinking skills


•  Organization skills


•  Transfer skills
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KEY WORDS


colony


manufactured goods


raw materials


revolution


textiles


urbanization
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We will reflect on this learner profile attribute …




•  Knowledgeable – exploring knowledge across a range of disciplines, engaging with issues and ideas that have local and global significance.
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Assessment opportunities in this chapter:




•  Criterion A: Knowing and understanding


•  Criterion B: Investigating


•  Criterion C: Communicating


•  Criterion D: Thinking critically
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SEE–THINK–WONDER


The two pictures in Sources A and B are both of Leeds, a city in Britain, but at different times.


In pairs, identify the changes that have taken place in the city over the 100-year period.
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THE INDUSTRIAL REVOLUTION




SOURCE A
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SOURCE B
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Why did the Industrial Revolution start in Britain?



Between 1750 and 1850 Britain became an industrialized country. The lives of people changed dramatically during this period, which is known as the ‘Industrial Revolution’.


Until 1750, the population in Britain was about 11 million; the majority of people lived in villages or small towns and depended on agriculture for their living. However, by 1850, the population had grown to about 21 million; 50 per cent lived in cities and over 40 per cent of the workforce was employed in factories.


This massive ‘revolution’ in turn had an impact on living conditions, travel, types of work and social and political change.


Britain was the first country in the world to have an industrial revolution and this was due to many factors.


The population was increasing


Around 1740, the population of Britain began to increase. This meant there was more demand for goods. It also meant that there were plenty of workers for the factories.


Britain’s overseas trade was growing


In 1750, British merchants had many opportunities to trade overseas due to the fact that Britain had many colonies. This meant that many merchants became wealthy enough to have capital to invest in new businesses. The British Empire also provided a source of both raw materials and markets for British goods. For instance, raw cotton could be obtained from India and then the manufactured cotton goods could be sold back to India.


Britain’s agriculture had improved


An agricultural revolution in Britain had already increased the amount of food that farmers could produce. This was important as it meant that there was enough food for the growing population, particularly the people in towns, who could not grow their own food. Farm workers were also paid more, so they had money to spend on goods produced by the new industries.


Transport was improving


Between 1660 and 1750, it became much easier to transport goods around Britain. This was due to the improvement of roads and rivers and the building of canals. This allowed raw materials such as coal and iron to be moved more easily around the country, which also kept costs down. It also allowed the finished goods to be transported to a wider range of markets. Letters, orders for goods and even new ideas could all travel much more quickly.


Britain had entrepreneurs and inventors


Britain had individuals who were prepared to risk their money in new ventures. There was also a great interest in science and technology, which meant that many new inventions were made in the textile and iron industries. These inventions enabled manufacturers to improve industry.


Britain had plenty of raw materials


Britain had the raw materials that were necessary for the Industrial Revolution. It possessed large quantities of iron, which was needed for making the machines and railways. It had coal to drive the steam engines in the factories.


Britain was at peace


The relatively stable political situation and absence of war allowed the British to pursue economic activities, and for trade to flourish between Britain and its colonies.
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ACTIVITY: Causes of the Industrial Revolution


In pairs, add details, examples and short explanations from pages 4–7 to a copy of the mind map below. Show what you have learnt about the importance of each factor in the Industrial Revolution.
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Which of these factors do you consider to be the most important in causing industrialization to start in Britain?


Could the Industrial Revolution have taken place if any one of these factors had not been present in Britain?
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WHAT WERE THE KEY INVENTIONS THAT ALLOWED THE INDUSTRIAL REVOLUTION TO TAKE PLACE?


The textile industry


The first industry to move into factories was the textile industry. The rapidly growing population after 1750 meant that there was a need for industry to produce goods in large amounts. In particular, there was a demand for cloth, and the domestic system by which spinning and weaving was done in people’s homes could not meet the demand. Thus it was the textile industry that first moved to powered machinery and to factories.
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The domestic system
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Before factories, spinning and weaving took place in people’s homes. Spinning was usually done by the women on a simple spinning wheel. Mothers, daughters and sometimes grandmothers would work together. The hours could be long, but were decided on by the workers themselves. The thread was woven into cloth by spinners, who could be in another part of the house. Alternatively, the thread would be collected and taken to a weaver’s cottage by the wool or cotton merchant – who ultimately would take the finished cloth to be sold in town.


Making cloth


Cotton and wool had to go through several stages in the process of making cloth:





•  Washing and carding: the cotton was cleaned and washed and then combed out into straight lines.



•  Spinning: the cotton or wool fibres were spun together to make a thread or yarn.



•  Weaving: the yarn was woven into cloth.
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Some of the key inventions are shown in Figure 1.6. It is interesting to note that because there are so many processes in the textile industry, the speeding up of one process could cause a problem in another area. For instance, if a spinning machine was invented to produce more yarn, then the weavers would be unable to keep up, until a machine was found for them. Thus one invention tended to lead to another.
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THINK–PAIR–SHARE


Consider the following questions on your own first, and then discuss them with a partner.


Both Kay and Hargreaves faced hostility to their inventions from workers. Kay had to flee to France and Hargreaves had his home set on fire. Why do you think this was? What can be the disadvantages of introducing new technology into the workplace? What examples can you think of today where there is hostility or concern regarding new technologies?
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The iron industry


Vital inventions also took place in the iron industry, allowing it to produce the iron necessary to make the machines that were being invented in other areas.


By 1700, Britain faced a shortage of timber for making charcoal, which was necessary for smelting iron ore. However, in 1709, Abraham Darby I discovered that if coal was first turned into coke, it could successfully be used for smelting. Although kept a secret at first, by the 1750s this method was being widely used.


Darby’s method produced iron that was suitable for casting, i.e. pouring into moulds to make items such as pots and cannons. It was very hard but also brittle. Wrought iron, which is more flexible and so can be used for a wider range of goods, was also needed. In 1793, Henry Cort devised a method called ‘puddling’, which enabled wrought iron to be produced.


The steam engine


The invention of steam engines to drive machines was one of the most important factors in the development of the Industrial Revolution.


In the early eighteenth century, only the traditional forms of power were used for working the new machinery: horse power, wind power and water power. However, as the factory system started to develop, it became clear that a more reliable source of power was needed; this need led eventually to the steam engine being perfected by James Watt.


The first steam engines were found in the coal-mining industry. As the demand for coal grew to make iron, mines become deeper and thus faced more problems with flooding. In 1712, Thomas Newcomen managed to build an ‘atmospheric engine’, which used steam to work a pump that could be used to drain mines. By 1775, there were over 100 of these machines at work in the tin and coal mines. However, they could only be used for pumping water and were very expensive to run because they needed so much coal.


In 1763, James Watt, an instrument maker at Glasgow University, was asked to repair a demonstration model of a Newcomen engine. He noticed that the engine had several design faults and worked out how to improve the engine so that it did not waste so much energy; this involved including a separate condenser.
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In 1781, Watt, helped by William Murdoch, devised a rotary motion steam engine which used sun and planet gears. Watt was also helped by John Wilkinson, the iron-master, who invented a lathe which could produce accurately bored cylinders.


The rotary steam engine could be used to drive machinery in textile mills and other factories, which no longer had to be built near rivers for their power. It could be used in iron foundries and in canal building. It also led to the development of the first railway.
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Links to: Physics; Sciences


Look at these websites to see how the Watt and Newcomen engines worked:


www.animatedengines.com/newcomen.html


http://science.howstuffworks.com/steam-technology3.htm


Explore the science behind the innovations in the steam engine. What was the impact of the improvements to the steam engine invented by Watt and Newcomen? What was the relationship between the development of the Industrial Revolution and developments in physics and the world of science?
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ACTIVITY: Inventions of the Industrial Revolution
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ATL




•  Communication skills – Use a variety of speaking techniques to communicate with a variety of audiences; Negotiate ideas and knowledge with peers and teachers


•  Collaboration skills – Listen actively to other perspectives and ideas; Negotiate effectively; Encourage others to contribute; Give and receive meaningful feedback


•  Organization skills – Use appropriate strategies for organizing complex information
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Work in groups. Each group should take one of the inventions of the Industrial Revolution and prepare a pitch to the rest of the class, who will take on the role of potential investors. Your group needs to sell the benefits of your invention – how will it improve industry or people’s lives? The rest of the class will then vote as to whether you have been convincing, and thus whether they are prepared to invest in your invention.


You could use Figure 1.8 to guide you through the assignment.
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Assessment opportunities




•  This activity can be assessed using Criterion B: Investigating and Criterion D: Thinking critically.
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How did factories change life in Britain?



WHAT WERE CONDITIONS LIKE?


The first cotton factory was built by Richard Arkwright to house his water frame. This was the start to the cotton industry leading the way in industrialization. Mill owners became nationally important figures, and the mills (factories) themselves were revolutionary in the way they changed not only the landscape of the country, but also the working conditions and lifestyles of the population.


Because the machines were automatic, the work in the mills was done mainly by unskilled labour, and two-thirds of the workforce in 1833 was made up of women and children. Some of the children were pauper apprentices: orphans sent to work in the factories by the town authorities or the workhouses that looked after them. In other cases, whole families (both children and parents) worked together in the mills. For mill owners, the advantages of employing children were that they did not have to pay them as much as adults and they could crawl under the machines to repair broken threads (fixers) or to clean up loose cotton (scavengers). The workers were watched by the overseers – who were always men.
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ACTIVITY: Origin and purpose
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ATL




•  Critical-thinking skills – Gather and organize relevant information to formulate an argument; Recognize unstated assumptions and bias; Evaluate evidence and arguments; Consider ideas from multiple perspectives
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1  Read Sources C to H on the following pages, and identify four conditions of work in the factories and two effects of the working conditions on workers. Complete a table like the one below.









	Conditions






	1






	2






	3






	4











	Effects






	1






	2
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Hint


To find the purpose of a source, think about why the source was written, spoken or drawn, and who it was for – who was the audience?
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2  Outline the purpose, values and limitations for Sources E and F with reference to the origin stated in the table below.
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3  Identify the message of the cartoonist in Source G.



4  Compare Sources D and E regarding the impact of the factory conditions on children.



5  Both Frances Trollope (Source E) and Cruikshank (Source G) were against children working in factories. Does this mean that these sources are worthless to the historian? Explain your answer.
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Assessment opportunities




•  In this activity you have practised skills that are assessed using Criterion D: Thinking critically.
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SOURCE C
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A list of fines published in a strike pamphlet by spinners of Tyldesley, 1823


Any spinner found with his window open…………………… 1 shilling


Any spinner found dirty at his work…………………… 1 shilling


Any spinner found washing himself…………………… 1 shilling


Any spinner found whistling…………………… 1 shilling


Any spinner being five minutes after last bell rings………………… 1 shilling


Any spinner having a little waste on his spindles………………… 1 shilling


Any spinner being sick and cannot find another spinner to give satisfaction must pay for steam for the day……………… 1 shilling




[image: ]











SOURCE D
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An extract from the memoir of Robert Blincoe, an orphan working in the factories. He started at the age of seven and became so deformed that he left and worked for himself at home. He published his memoir, under the name of John Brown, in 1928


‘They reached the mill about half-past five [in the morning]. The moment he entered the doors, the noise appalled him, and the stench seemed intolerable.


‘The task first given him was to pick up the loose cotton that fell upon the floor. Apparently nothing could be easier and he set to eagerly, although much terrified by the whirling motion and noise of the machinery, and not a little affected by the dust and flue [fluff] which he was half suffocated.


‘Unused to the stench he soon felt sick and, by constantly stooping, his back ached. He therefore sat down, but this he soon found was strictly forbidden. His taskmaster gave him to understand he must keep in his legs. He did so, till twelve o’clock. Blincoe suffered greatly with thirst and hunger.’
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Sources


Sources are key for historians for finding out about the past. A key skill is being able to extract information from sources and also to compare them. By comparing and contrasting the content of sources and checking their value and limitation by looking at their origin and purpose, we can start to draw conclusions about the past.
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SOURCE E
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ACTIVITY: Comparing domestic and factory systems


Refer back to the description of the domestic system on page 5. Describe the ways in which the lives of textile workers in the domestic system were different from the lives of workers in the factory system.
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SOURCE F
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Mr John Moss, who was in charge of apprentice children at Backbarrow Mill, was questioned by a Parliamentary Committee at the House of Commons in 1816


Q. Were there any children employed at the mill?


A. There were 111. All parish apprentices, mostly from London, between the ages of seven and eleven.


Q. What were the hours of work?


A. From five o’clock in the morning till eight at night.


Q. What time was allowed for meals?


A. About half an hour for breakfast and half an hour for dinner.


Q. Would the children sit or stand at work?


A. Stand.


Q. Were they usually tired at night?


A. Yes, some of them were very tired. I have frequently found some asleep on the mill floor.


Q. Were any children injured by machines?


A. Very frequently. Very often their fingers were crushed and one had his arm broken.
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SOURCE G
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SOURCE H
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Joseph Hebergam, aged 17, was also questioned about his work in a mill in Huddersfield


‘After I had worked for half a year I could scarcely walk. In the morning my brother and sister used to take me under each arm and run with me, a good mile, to the mill. If we were five minutes late, the overlooker would take a strap and beat us till we were black and blue. I have seen my mother weep at me sometimes, but she would not tell me why she was weeping.’




[image: ]










How and why were the factories reformed?



By the 1830s, it was realized that there was an urgent need for reform. The factory system had grown so that there were now 30 000 children under 13 and 75 000 children aged 13–18 working in the factories. Adult workers also faced low wages and long hours.


Because of this situation there was more pressure for reform and a demand for a restriction on working hours. In the textile areas of Yorkshire and Lancashire the trade unions campaigned for working hours to be a maximum of ten hours for children. They were supported by one or two factory owners, some writers and campaigners and some Members of Parliament. However, the idea of reform was strongly opposed by many factory owners, who believed that it was not the role of governments to interfere in private business; they believed in ‘laissez-faire’ – allowing industry to do what it thought was best for making money.


However, due to pressure from campaigners, and a growing awareness that the Industrial Revolution was creating new conditions which needed government intervention to protect workers, a committee was set up by Parliament to interview children and adults about factory conditions.
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ACTIVITY: Debate on child labour
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ATL




•  Communication skills – Paraphrase accurately and concisely; Negotiate ideas and knowledge with peers and teachers
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Visit this website:




http://spartacus-educational.com/IndustrialRevolution.htm





On this website, you will find details of children, campaigners, factory workers and doctors who gave evidence to the parliamentary committee on whether Parliament should pass a law to restrict the working hours of children to ten hours. Each student should take on the role of one of the people listed under ‘Factory Workers’ and the ‘Debate on Child Labour’.


Your goal is to convince the committee of the British Parliament of your point of view – either to change the law on child labour or keep it the same.


Role


Your character is explained on the website; you may find examples of what your person actually said at the real Parliamentary Commission, which you can include in your speech.


Audience


The other students in the class will be your audience as they are also part of the committee, but they will also be in their character role and they may decide to challenge you!


Performance


You need to write a speech from the point of view of your character. You should indicate whether or not you are in favour of the government passing a law to restrict the hours of children working in factories. Give evidence for your arguments and try to be convincing!


Standards and criteria for success


Your speech must be about two minutes long. At the end, your class should vote on whether or not Parliament should intervene.






[image: ]



Hint


This website gives some good hints on how to make an effective speech:


www.bbc.co.uk/bitesize/ks3/english/speaking_listening/speaking/revision/3/
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Assessment opportunities




•  This activity can be assessed using Criterion C: Communicating and Criterion D: Thinking critically.
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EXTENSION


Investigate child labour in the world today and then summarize your findings in a report. You could focus on one specific region or choose to research one case study from two or more regions.


Your report should be between 700 and 1500 words. You can use the following to help you:





•  State your research question clearly.



•  Explain the scope of your research. Think about the timeframe and case studies you will focus on. Think about what themes and ideas you will focus on in your research – for example: How widespread is it? In what areas do children work and why do they work? What are the conditions that children face today? Why do families allow their children to work? How is this different from or similar to the situation in nineteenth-century Britain?



•  Explain the methods you will use to research your question. What types of sources will you look for? Why would you look at different viewpoints?



•  Remember to state the convention you will use to collate and cite your sources of information.





Once you have completed your research and report, you will need to evaluate your investigation process and your results. Consider the following questions when writing up your evaluation:





•  How did the initial planning process aid in the development of your final report?



•  What type of sources did you find most useful and least useful in the development of your report?



•  What other sources could you have used to improve your final report?



•  Were you accurate and consistent in citing your sources?



•  How could you have organized your information to develop your arguments more effectively?



•  To what extent did you answer your research question?



•  What would you do differently in your next research project?



•  Did you use your research time effectively?
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Assessment opportunities




•  In this activity you have practised skills that are assessed using Criterion B: Investigating and Criterion C: Communicating.
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1833 FACTORY REFORM ACT


The interviews by the Parliamentary committee gave evidence of accidents, ill health, beatings and poor treatment of children. Eventually, after pressure from campaigners such as Lord Shaftsbury and Edwin Chadwick, the Factory Reform Act of 1833 was passed. This Act had the following provisions:





•  No children under the age of 9 could work in the mills.



•  Children between 9 and 13 were to work no more than 12 hours a day.



•  No one under 18 was to work the night shift.



•  Four factory inspectors were appointed to oversee the Act.





However, it was difficult to ensure that these provisions were carried out. Four inspectors could not possibly visit all of the factories, and it was often difficult to establish the true ages of children. Parents and factory owners would often lie about the ages of workers. Schooling was often avoided or carried out in an unsatisfactory way and even if a factory owner went to court, the fine was minimal.


Nevertheless, the idea of inspection was now established and the situation continued to improve so that the Factory Act of 1853 laid down a working day of 6a.m. to 6p.m. or 7a.m. to 7p.m. with an hour and a half in breaks. This gave a normal working day of ten-and-a-half hours.


Laws after 1850 also extended such protection to workers other than those in the textile mills. Indeed, as more and more official reports revealed poor working conditions, and Parliament continued to pass legislation, people got used to the idea that the government needed to intervene in the lives of people. In later years, governments also passed laws providing free education, old age pensions, free health care and unemployment benefits.



Why did the Industrial Revolution cause social and political change?



Once factories could use steam engines for power, they were not dependent on being situated near to fast-flowing water. Many factories moved to the cities where they could more easily get labour and be near to the roads and railways for carrying goods. Towns thus grew fast. By 1851, more than half the people of England and Wales lived in towns which had over 50 000 people.


This rapid growth caused terrible living conditions as parts of the city became overcrowded with inadequately built housing. An ‘Inquiry into the State and Condition of the Town of Leeds’ in 1842 reported that:




‘In one road in Leeds there are 34 houses, and in ordinary times, there dwell in these houses 340 persons, or ten to every house. The name of this place is Boot and Shoe yard from whence the Commissioners removed, in the days of cholera, 75 cartloads of manure, which had been untouched for years.







‘To build the largest number of cottages on the smallest space seems to have been the original view of the speculators. Thus neighbourhoods have arisen in which there is neither water, nor offices [toilets].’





Diseases flourished in these conditions. Typhoid, typhus fever and tuberculosis all spread quickly, causing many deaths. In 1831, cholera first appeared. Further outbreaks occurred in 1838, 1848 and 1854, killing hundreds of thousands of people.


SOCIAL CHANGE


Wealth was now available to new groups of people; a middle class developed that made its money from the factories or investing in new businesses such as the railways. These people had a whole new range of products to buy – in cotton, pottery and iron. However, people who owned small businesses, professional people and shopkeepers also made more money and benefited from the lower prices of manufactured goods, and the wider range of food now available because of the railways bringing in fresh goods.


Skilled workers could also earn good money. While some, such as wool combers and weavers, were put out of business by the machines (see page 6), at the same time there was a demand for new skilled trades such as engine drivers, engineers and fitters. Unskilled workers could also earn up to three times the amount of agricultural workers in the north of England. However, unskilled workers could lose jobs overnight whenever there was a fall in demand. They also had to cope with the appalling working and living conditions.


POLITICAL CHANGE


As well as changing people’s home and working lives, the Industrial Revolution caused changes in people’s attitudes towards the political system. Many people came to believe that the existing political system no longer represented the needs of the middle and working classes:





•  The new towns, which produced most of the wealth of the country, were not represented in Parliament (see Figure 1.11).



•  There was now a large middle class which, by 1830, was paying as much tax as the landowners but could not vote in elections. Their business interests were not being represented in Parliament, where voting and eligibility to stand as a Member of Parliament (MP) was dependent on ownership of land.



•  The working classes had many grievances regarding working and living conditions but could not vote and were not represented in Parliament. As the Declaration of the Birmingham Political Union, 1829, explained:







‘That honourable House [of Commons], in its present state, is … too far removed in habits, wealth and station [position], from the needs and interests of the lower and middle classes of people, to have … any close identity of feeling with them. The great aristocratic interests of all kinds are well represented there … But the interests of Industry and Trade have scarcely any representatives at all!’





The beginning of the nineteenth century saw violent clashes between working-class people and the government. In 1819, as a result of the ‘Peterloo’ massacre in Manchester, 11 people were killed when the military forcibly broke up a peaceful, mainly working-class meeting which was demanding political reform. However, the government realized that there was a need for reform and in 1832 a Reform Act was passed, which increased the number of people who could vote. In 1830, there were 435 000 voters; after the 1832 Act there were 652 000. In addition, the Act gave more representation to the industrial towns.


However, the Reform Act did not address the political demands of the workers – the great majority of the men and all women in Britain still had no right to vote. Working people started a new movement, drawing up petitions and charters to present to Parliament, asking for more reform.
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ACTIVITY: The demands of the Chartists


In pairs, analyse the People’s Charter, looking at each of the demands made by the Chartists. What was their aim in asking for these reforms? To what extent do these reforms exist in your own country?
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One of the first charters was handed in to Parliament in 1837. It reads:




‘It was the fond hope of the people that a remedy for their grievances would be found in the Reform Act of 1832. They have been bitterly let-down. The Reform Act has meant simply a transfer of power from one wealthy group to another.’





Workers came up with six points that they wanted the government to agree to. These ‘Six Points’ made up the People’s Charter and people who supported these points were known as the Chartists.


Some Chartists wanted to use force to get their demands accepted. In 1839, for instance, there was a Chartist uprising in Newport, Wales. Other Chartists wanted to persuade Parliament. In 1839, 1842 and 1848, huge petitions were presented to Parliament. In 1848 there was a big rally in London to take the final petition, which had 5 million signatures. However, many of these signatures turned out to be forgeries. Included among the signatures were ‘Her Majesty’, ‘Queen Victoria, ‘The Duke of Wellington’ (several times) – but also ‘Pug nose’, ‘Flat nose’ and ‘No cheese’. The Charter was rejected and was never adopted by Parliament.


However, political reform did continue in Great Britain and eventually most of the demands of the Chartists were achieved.
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The People’s Charter





•  A vote for every man of at least 21 years of age



•  A secret ballot




•  No property qualification for Members of Parliament



•  Payment of Members of Parliament



•  Equally sized constituencies



•  General Elections to be held each year
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EXTENSION


Women had their own pressure groups, the Suffragists and the Suffragettes, to try and get the vote. Research the activities of each of these groups up to 1914. How did they differ in the way that they tried to put pressure on the government? Which group was more successful in your opinion?


The new working classes of Britain also looked to protect themselves by joining other movements. Research the actions and the success of the Luddites and those who attempted to establish trade unions.
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SOURCE I
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Electoral reform 1800–85


First ‘Great’ Reform Act 1832


New constituencies: 56 boroughs were abolished (they had elected 112 MPs) and 30 boroughs with a population under 4000 elected one, rather than two, MPs. 142 MPs were now elected by voters in industrial towns.


Qualification for vote: reduced and made more uniform.


Number of voters: rose by 200 000.


This Reform Act was followed by two more, in 1867 and 1884. Thus, by 1885, all male householders could vote, only one MP was allowed for each constituency and boroughs with a population under 15 000 were abolished so that the industrial cities could now be fairly represented.


Secret Ballot Act 1872


No more ‘open’ elections – people to vote in secret.


Corrupt Practices Act 1883


Election expenses for candidates standardized and bribery and corruption punished.
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ACTIVITY: Review
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ATL




•  Critical-thinking skills – Analyse complex concepts and projects into their constituent parts and synthesize them to create new understanding
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Use the information and sources in this chapter to draw a diagram to show the impact of the Industrial Revolution in Britain. This could be a mind map or a flow diagram, or another type of infographic.


Assessment: ‘Analyse the relationship between innovation and revolution.’


To answer this question you will need to review the content, ideas and concepts covered in this chapter thus far. You will need to write a response that is around 700 words and includes two paragraphs, one suggesting how innovation and revolution may be linked and the other about the differences between the two.


Discuss this question as a class and make notes of the discussion. You will need to consider how these two factors work together, how innovation may foster revolution and how revolutions can lead to innovations. You should also consider the idea that innovations may not lead to revolution.
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Assessment opportunities




•  This activity can be assessed using Criterion A: Knowing and understanding and Criterion C: Communicating.
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SOURCE J
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Percentage of adults (over age 21) allowed to vote, 1831–1928






	Date

	% of voters






	1831

	5






	1833

	7






	1867

	16






	1884

	28.5






	1918

	74






	1928

	97
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What was the impact of the Industrial Revolution in Japan?



By 1850 Britain, as you have seen, was an industrialized country. Japan, by contrast, was a closed country in 1850, cut off from the rest of the world; it was very much a feudal society with an economy based mainly on agriculture.


The reasons for Japan’s move to industrialization are different from those of Britain. The impetus for change for Britain came mainly from internal factors such as population growth, whereas the impetus and the timing of change for Japan came from a combination of internal and external factors.


WHAT INTERNAL FACTORS CAUSED AN INDUSTRIAL REVOLUTION IN JAPAN?


The outdated feudal system
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In theory, Japan was ruled by an emperor, but in practice power lay in the hands of the Shogun, the most senior soldier in Japan; this was also a hereditary position.


From 1603, the Shogun belonged to the rich and powerful Tokugawa family. The Shogun governed from his palace in Edo (Tokyo) and the Emperor was a virtual prisoner in the old imperial capital Kyoto. It was the Shogun who appointed all senior officials and it was to him, not the Emperor, that they swore an oath of loyalty. However, by 1850 the Shogun faced revolutionary pressure from below.


Japan was divided into provinces (called han) and each of these was ruled by a feudal lord or daimyo, who owed his position to the Shogun. The Shogun controlled the daimyo by making sure that they spent every other year living in his headquarters in Edo. When a daimyo returned home he had to leave his family behind as ‘hostage’.


The Shogun kept Japan isolated from the West partly to make sure that no daimyo ever made alliances with other countries or got weapons from other countries. By 1850, the daimyo were frustrated with the shogunate system, and some were already starting to modernize their armies.


Below the daimyo in the feudal ‘pyramid of power’ came the samurai or warrior class. They had certain privileges, for example the right to wear swords, and they had to live by a certain code of behaviour called bushido (the way of the warrior) which stressed loyalty, bravery and honour. A samurai who behaved dishonourably was expected to commit suicide publicly by the ritual of seppuku (belly-cutting). They were awarded a wage or stipend, and some samurai played an important part in the government of the daimyo, but others were very poor. By 1850 the samurai were struggling with changes from a rice-based economy to a cash-based one. They were also increasingly urbanized and desirous of consumer products; they did not like the fact that the merchants were becoming wealthier than them.


The majority of the population were peasants. They mainly cultivated rice. However, they were kept in poverty by the high feudal taxes, which meant that the daimyo took between 40 and 60 per cent of a peasant’s household rice production every year. By the middle of the nineteenth century, the peasants were discontented with their heavy tax burden. Their livelihoods were also vulnerable to natural disasters and there were many peasant uprisings.


The artisans and merchants were at the bottom of the pyramid of power, but their wealth meant that they were often more influential than those higher in the social order. They were growing in numbers and power and they wanted this power reflected by the position they held in society.


At the very bottom of the feudal system were the ‘untouchables’ or ‘burakumin’. These people did the dirty jobs in society – digging and filling cesspits and burying the dead.


In 1637, the Shogun ordered that no Japanese person should ever leave the country. Also, foreigners had been banned from entering the country. From this time until the middle of the nineteenth century, Japan was almost entirely successful in pursuing its policy of sakoku or ‘closed country’. Nonetheless, some contacts had been made and, by 1850, there were iron works in Choshu and Satsuma, factories making guns in Mito and Satsuma, textile mills, and other works. Many of these innovations came from Japanese contacts with the Dutch, who had a small trading station in Nagasaki harbour.


WHAT EXTERNAL FACTORS CAUSED AN INDUSTRIAL REVOLUTION?


The Americans were interested in Japan for two reasons:





1  As the Americans expanded their territories westwards, and Oregon and California became part of the USA in 1848, the Pacific Ocean became a sphere of interest.



2  It would be very useful if American ships trading between China and San Francisco could take on fresh provisions in Japan before crossing the vast expanse of the Pacific Ocean. Yokohama was nearly 2000 km closer to San Francisco than Shanghai.
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ACTIVITY: Thinking critically


By the middle of the nineteenth century, what factors threatened the isolation and stability of Japan?
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In 1853, the Americans therefore sent an armed naval mission to negotiate with the Japanese. The mission was led by Commodore Matthew Perry. The Americans impressed the Shogun with their show of force – steam-powered, iron-clad warships with heavy guns.


In 1854, Perry returned to Edo Bay with twice as many ships as before. The Japanese believed that he would attack if the American demands were not granted, and they agreed to negotiate. As a result, the Treaty of Kanagawa was signed.


Terms of the 1854 Treaty of Kanagawa


In the treaty, the Japanese agreed to:





•  open up the isolated ports of Hakodate and Shimoda to ships from the USA



•  allow the Americans to station a consul in Shimoda



•  treat shipwrecked sailors well



•  give the USA ‘most favoured nation’ status.





This treaty was quickly followed by other treaties – with Britain in October 1854, with Russia in February 1855 and with the Netherlands in 1855.


By 1858, the Japanese had been persuaded via the Treaty of Edo with America, and similar treaties with other countries, to open up fully to commercial trade. However, these treaties were unequal. First, they allowed ‘extraterritoriality’, which meant that foreigners could be tried according to the laws of their own countries if they committed a crime (see page 55 for more discussion on this).


Second, the Japanese could not control their own tariffs levied on goods coming into Japan; and finally the USA got the benefit of any extra terms negotiated with other countries as it had ‘most favoured nation’ status.



What were the effects of the ‘unequal treaties’ on the Japanese?



The unequal treaties had a momentous impact on Japan. First, they led to a change in the political system. The weakness of the Shogun in allowing the treaties helped to bring about the restoration of the Emperor as the source of power in Japan. This was the demand of many influential Japanese. They took as their slogan Sonno, Joi, meaning ‘Revere the Emperor, Expel the Barbarians’.


There followed 14 years of disturbance in Japan, which ended in 1868 when the Emperor Meiji decided that he would take over all the powers of the Shogun. He left Kyoto and moved to Yedo, which he renamed Tokyo. He also announced that from that time onwards Japan would take its place among the nations of the world, with the slogan Fukoku Kyohei: ‘Enrich the country, strengthen the military’.


A delegation was sent to the West in 1871 to ‘renegotiate’ the unequal treaties. Although this was an unsuccessful mission, the delegation’s leader now better understood that Britain had become strong through industrialization and that this had happened relatively quickly. This convinced the delegation that the Japanese could catch up.


Japan undertook a rapid programme of modernization that meant that in just 30 years the country was transformed from a semi-feudal state into one capable of winning a war against a European country.
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ACTIVITY: Comparing Japan and Britain


Refer back to the mind map that you completed on the reasons for Britain’s Industrial Revolution. Annotate a mind map to show the causes of Japan’s industrialization. Compare and contrast your two mind maps and the reasons for Britain’s and Japan’s industrialization.
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What were the Meiji reforms?



THE MEIJI RESTORATION
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The Emperor was too young to rule on his own, but he had some brilliant young samurai advisers. In April 1868, the young Emperor signed the Charter Oath. This was an important demonstration of the new government’s intention to reform and modernize Japan.


The Charter Oath was important because it declared that from now on promotion to the highest positions in society was open to all – not just those in the privileged classes. It also told the Japanese people to learn from the rest of the world.
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The Charter Oath





•  Assemblies shall be established and all matters of the state decided by public discussion.



•  All classes, high and low, shall unite in vigorously tackling the problems of the state.



•  The common people, as well as civil and military officials of the state, shall be allowed to pursue their vocations and ambitions, so there is no discontent among them.



•  Evil customs of the past shall be abandoned and everything based on the principles of natural justice.



•  Knowledge shall be sought throughout the world, so as to strengthen the foundations of the Empire.
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THE MEIJI REFORMS


Abolition of the feudal system


Japan’s new rulers understood that to modernize they would have to get rid of Japan’s medieval feudal system. They needed to break up the power of the daimyo and samurai and strengthen the power of the central government. This would mean creating one army and not a number of powerful private armies, and having one strong government rather than a number of regional leaders.


First, they abolished the domains and privileges of the daimyo. This could have been very difficult – but the government had the support of some powerful daimyo that had been part of the force that overthrew the Shogun. The daimyo were also compensated, and many became local governors over their former territories. As the daimyo no longer had to pay the samurai, and as they had had their debts written off, many of them became wealthier after the reform.


Second, the government abolished the privileges of the samurai. Their stipends were initially halved, and then replaced with government bonds. In 1876 their proudly held privilege of wearing swords was forbidden. There was a lot of hardship among the samurai, who struggled to find a new role in Meiji society.



Political reforms


Even though the Meiji Emperor had announced the Charter Oath, Japan was not a democracy. It was ruled by the elites (the most powerful, wealthy sections of society). However, under pressure at the end of the nineteenth century, the government prepared for a new constitution. It sent Ito Hirobumi to Europe in 1882 to study the different systems of government there. When he returned, Japan set to achieve its goal of a constitutional monarchy through a number of stages.


In 1889 the Constitution was announced as a ‘gift’ from the Emperor to the Japanese people.
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Key points set down in Meiji Japan’s constitution





•  The legislature was called the Diet.



•  The Diet consisted of the House of Peers and the House of Representatives.



•  Voters had to be male, over 25, and 15 yen per year taxpayers. This meant between 98 and 99 people in 100 could not vote.



•  Supreme power rested in the hands of the Emperor.



•  The Emperor was the supreme commander of Japan’s armed forces.



•  Everyone in Japan had the right to free speech and free worship, and had the freedom to join political parties.
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Nevertheless, Japan continued to be governed by a small elite group of leaders called the genro.
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ACTIVITY: Source evaluation


Identify the purpose, values and limitations for Sources K and L, with reference to the origin and purpose of each source. Draw up a table like the one on page 9 and fill in the details.
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Economic reforms


As we have seen, the Japanese government decided to learn about the West. Delegations were sent to Europe and the USA. The Japanese hoped that these foreign governments would understand that the government of Japan had changed, and that they would then be willing to renegotiate the unequal treaties. They were not successful in this aim – but did make careful note of the societies and technologies they saw and adopted key models, as can be seen in the sources below.




SOURCE K
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Okubo Toshimichi, a Japanese official on the Iwakura Mission of 1871–73


‘In every city there are many factories. The shipyard in Liverpool, the spinning mill in Manchester and the cotton mills in Glasgow, in particular, are equipped with powerful machines which are in constant operation. Besides these, there are countless large and small plants. When I saw them I realized how Britain had become such a powerful and wealthy nation. In remote places there are roads and bridges. Railways are in use, not to mention horse-drawn carriages for transportation. I was impressed by the convenience of it all.’
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SOURCE L
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‘Japan’s general progress, during the short space of half a century, has been so sudden and fast that it [is] … rare in the history of the world. This leap forward is the result of the stimulus which the country received on coming into contact with the civilisation of Europe and America … We possess today a powerful army and navy, but it was after Western models that we laid their foundations … We reorganised the systems of central and local administration and effected reforms in the educational systems of the empire. All this is nothing but the result of adopting the superior features of Western institutions.’


Okuma Shigenobu. 1908. Fifty Years of New Japan.
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When Japan opened up to the West it was primarily an agricultural economy but by 1920 less than half the population were peasants or fishermen. This was partly due to the implementation of new farming methods, stronger crops and effective use of fertilizers. However, these improvements did not bring about a corresponding improvement in the standard of living for most peasants, who continued to live in poverty.


The decline in people working in agriculture was also due to the increase in those employed in industry, trade and finance, which grew from 1.6 million in 1870 to 5 million in 1900. Indeed, many new factories opened due to investment from the government – the new Ministry of Industry developed and ran coal mines, cement works, shipbuilding yards and textile mills.


The silk industry was particularly successful. The first silk mill using machinery was opened in 1870 and the government gave money to develop the industry. The production of silk multiplied five times in 25 years and the export of silk helped to pay for the imports of raw materials needed for other industries.


Industrialization led to the expansion of domestic and foreign trade. The building of merchant ships and the establishment of banks helped to encourage commercial growth.


As Japan industrialized, transport and communications were modernized. In 1869, the first telegraph line was built. Work on Japan’s first railway began in 1870 and, in 1871, a government postal system was established. Gas lighting was introduced into Japanese cities in 1872, and electricity became available in Tokyo by 1887.


However, the government could not afford to keep investing in industry as it had to foot the bill to compensate the samurai in 1876 and to pay to put down the Satsuma Rebellion in 1877. Prices rose sharply, and the cost of rice doubled between 1877 and 1880. The government had to sell off many of its factories to private investors to raise money. Many were bought by very rich families called zaibatsu.



Social reforms


As well as copying the West in terms of industrialization, the Japanese also adopted many Western customs. Many wealthy Japanese began to wear Western clothes. Men wore moustaches, top hats, bow ties and Western-style suits, and carried umbrellas.


The Japanese began to use a Western calendar in 1872, and adopted a metric system 50 years before it was introduced into Britain!


The key social reforms were in education. The new government understood that to modernize it had to have a modern education system. It made education compulsory for four years in 1872, and it built primary and secondary schools. Western knowledge was taught as well as traditional Japanese beliefs and skills. Children were brought up with a strong sense of patriotism and reverence for the Emperor. In 1890, the Emperor Rescript on Education, which set down the aims for education, was issued to schools. It was memorized by children, who promised to obey their parents and to ‘guard and maintain the prosperity of our Imperial Throne’. Tokyo University was founded in 1877 and Kyoto University in 1897. Initially, thousands of Japanese students were sent to foreign universities but this declined as Japan developed its own colleges.


Military reforms


Modernization of the military had already begun before the fall of the shogunate as some powerful daimyo were impressed by Western forces. The Meiji decided that they would copy the best from the West. The navy was modelled on that of the British, which was the strongest navy in the world at that time. The army was initially modelled on the French, but later adopted methods from the Germans. The Choshu and Satsuma armies were combined to form the new Imperial Army in 1872.


Conscription was introduced in 1873 and these peasant conscripts proved themselves when they were able to defeat the samurai in the rebellion of 1877. The new Imperial Army was well trained, equipped with modern weapons and effectively led – and went on to defeat the European power of Russia in the Russo-Japanese war of 1894–95.
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Revision of the unequal treaties


A key reason why the reformers had embarked on a radical programme of modernization was to enable Japan to revise the unequal treaties and take back control of their own country. Two key elements which emphasized foreign superiority had to be undone – first the extraterritorial rights and, second, foreign control of customs duties.


Japan reformed its legal code in 1889 and so there was little reason for foreign nationals to want to live under another justice system. Britain, and then the other Western powers, gave up its extraterritorial rights in 1894. Foreign control over tariffs was also removed in 1911.



To what extent were the Meiji reforms beneficial to Japan?



Japan’s change from a closed feudal society to a modern industrial state took place very quickly – and the impact of this change was not always positive. Indeed, for many people in Japan at this time the reforms did not improve their standard of living and made life more unpredictable. The Japanese who were able to adapt to the ‘new’ Japan and take advantage of modernization, such as the factory owners and traders, did well, but many were left behind.


WHAT WAS THE IMPACT OF ENDING THE FEUDAL SYSTEM?


As you have read, the samurai saw the end of their privileged lifestyles, they could no longer wear their swords and their salaries were stopped. All in all, their traditional respected status in Japanese society no longer existed. This led to much discontent and this resentment finally exploded in the Satsuma Rebellion in 1877. Other samurai attempted to form political parties to legally pressure the government for improvement – and greater democracy. This was more successful than the violent uprisings and in 1889 a written constitution gave Japan an elected parliament, albeit a limited democracy with only four per cent of Japanese men allowed to vote (see page 21).


WHAT WAS THE IMPACT OF INDUSTRIALIZATION?


The peasants were also unhappy with the Meiji reforms and this led to problems in the countryside with violent uprisings occurring at a rate of 30 a year between 1869 and 1874. The peasant revolts continued through to the end of the nineteenth century – with a peasant army of 10 000 burning down government buildings east of Osaka in 1876, and widespread rioting in Fukushima in 1882 and Chichibu in 1884. The peasants revolted against the changes made by the Meiji government in the way taxes were paid. Instead of being able to pay in rice, taxes now had to be paid in cash.


The peasants believed that the ‘assessments’ made of their plots of land were too high. Even if there had been a bad season and the crop yield was low, the peasants still had to pay their cash tax and were often forced into debt. Many peasant farmers were forced to borrow money, and this in turn forced them to sell their land when they could not pay the debt. Between 1883 and 1890, 300 000 farmers had to sell their land and either move to the cities to find work or take on jobs as labourers.


The peasants also were impoverished by the impact of foreign trade. Many peasant farmers survived not only on their crop but made ends meet with home industries that were supported by their wives and children. Homemade cloth, candles and other products were no longer needed; imported paraffin oil lamps replaced these candles and the industrialized machine-made, mass-produced cotton goods were better than the homemade peasant cloths. There was some attempt to boycott these goods, but with little effect. The Japanese could not do anything about the situation until it was strong enough to revise the unequal treaties.


The urban workers also suffered with the changes. Workers in the new factories lived in squalid conditions in unsanitary slum housing; sometimes they were housed in wooden dormitories above the factory they worked in. As in Britain, the majority of the workforce was made up of women and children; conditions were grim and the hours long. Discipline was harsh, with heavy fines for arriving a few minutes late or opening a window. Diseases were common – and spread through the cramped factories and overcrowded dwellings easily.


Industrial accidents were common and workers had no protection. The sources on this page give an indication of what conditions were like.




SOURCE M
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From a 1904 report


‘Take the case of the condition of the factory girls of Osaka. Many of them are children of ten, a few of eight, even of six. One account tells us, ‘The employees are usually pale and sickly-looking, more especially the younger girls. The atmosphere in the mills is oppressive and impregnated with dust and small particles of cotton. There are small pivot windows in the buildings. The manager informed me that these windows are usually opened three or four times per day for a few minutes.’
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SOURCE N
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Song sung by girls working in the silk and cotton factories


‘Factory work is prison work


All it lacks are iron chains.


More than a caged bird, more than a prison,


Dormitory life is hateful …


How I wish the dormitory would be washed away,


The factory burn down,


And the gatekeeper die of cholera!


In this troubled world


I am just a silk-reeling lass,


But this lass wants to see


The parents who gave her birth.


Their letter says they are waiting for the year’s end.


Are they waiting more for the money than for me?’


Quoted in Tsurumi, P. 1992. Factory Girls: Women in Thread Mills of Meiji Japan.
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ACTIVITY: Comparing the Industrial Revolution in Japan and Britain


What similarities can you see in Sources M and N to conditions in the first British factories? Look at the date of Source M. Why would this situation not be happening in Britain by 1904?
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ACTIVITY: Reforms
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ATL




•  Transfer skills – Inquire in different contexts to gain a different perspective


•  Communication skills – Use appropriate forms of writing for different purposes and audiences; Organize and depict information logically; Structure information in summaries, essays and reports


•  Creative-thinking skills – Create original works and ideas; Use existing works and ideas in new ways
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Work in groups of three. Each group should choose one area of reform from the table below. Identify key points from the text on your area of reform and write them down as bullet points. You should include dates, details and examples. Make sure it is clear when and what changed in Japan. You should also note the benefits and disadvantages of the Meiji reforms for Japan.






	Economic reforms

	Social reforms

	Military reforms






	e.g.
Opening of Japanese silk factory


	e.g.
The Iwakura Mission was sent abroad to learn from the West in 1871


	e.g.
Conscription introduced in 1873








Assessment task


Your task is to explain the extent of change in Japan in the nineteenth century.


Role


You need to choose one of the products (right) in which to explain the impact of the reforms.


Audience


If you choose the children’s picture book, you need to consider the audience carefully.


Situation


The focus of your task should be on describing what Japan was like before the reforms and how radically the country changed as a result of industrialization and political reform.


Product


You will create one of the following:





•  Poem (150 words minimum). Choose an appropriate poetic form – for example, haikus are perhaps not appropriate as they are too short and acrostics are too simplistic. Your poem does not necessarily have to rhyme.



•  Diary (500–1000 words). As the focus of the task is to describe and explain the impact of the reforms, one diary entry is not enough. A number of entries spanning a particular period of time is more appropriate.



•  Painting (A3 size minimum). Any design or style of painting is acceptable. You may have words in addition to pictures in your painting. There should be dates and details.



•  Short story (700–1500 words). Use the narrative techniques and structure you have learnt in English to help you plan this task.



•  Children’s picture book (700–1000 words). Read several picture books before you begin to give you an idea of the layout, level of language and type of illustration used. It is important to aim your picture book at a particular age group. ‘Children’ is not specific enough – you should focus on an age group from 6-year-olds or older.
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Assessment opportunities




•  This activity can be assessed using Criterion A: Knowing and understanding and Criterion C: Communicating.







[image: ]








[image: ]










[image: ]



ACTIVITY: Assessing the impact of industrialization
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ATL




•  Communication skills – Read critically and for comprehension; Make inferences and draw conclusions; Structure information in essay format


•  Organization skills – Plan a short-term assignment; Meet deadlines


•  Critical-thinking skills – Draw reasonable conclusions and generalizations
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Write an essay. There is no word limit for this assessment. You will have 1 hour to complete the task.


Essay: ‘Industrialization brings benefits to society.’ To what extent do you agree with this claim?


Answer with reference to Sources O to S (see pages 28–29) and also with reference to your own knowledge of the impact of industrialization. You do not need to focus only on Japan and Britain if you have evidence from other countries (Source S is about industrialization in America).


You could make use of this essay frame.
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Essay frame


Plan


Organize the sources into those that suggest that society did benefit from industrialization and those that suggest it did not. Then add details and examples from your own knowledge to both sides of the argument.


Introduction


You need to set down your line of argument. This could be that the Industrial Revolution did indeed bring substantial benefits to certain sections of society and certainly changed the lives of most people. However, there were groups of people who did not benefit, or who suffered as a result of the changes. You could briefly state which sources agree and which do not.


First section


Here explain the groups of people who did benefit. You could consider factory owners, the middle classes, certain groups of workers. Do not forget to have a clear opening sentence that links to the question, for example There were several groups of people who benefited from the Industrial Revolution. First … (Refer to the sources that claim it did benefit – Q, R and some of S.)


Second section


Now explain groups who did not benefit. You could consider children, poor workers in cities, etc. Do not forget to use linking words: However, there were groups who did not benefit such as … (Refer to the sources that claim it did benefit – O, P and some of S.)


Third section


Here you may want to consider groups who gained or lost or whose fortunes changed over time, such as factory workers (good wages but no job security) and weavers in Britain (who made lots of money to start with but were put out of business once the power loom was invented). You may also want to consider changes that affected everyone, such as the railways.


Conclusion


You should write a sentence or two that answers the question. This should fit with the weight of evidence you have provided.
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Hint


Useful linking words for joining together your arguments in an essay include: However, Moreover, In contrast, In addition, furthermore.
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Assessment opportunities




•  This activity can be assessed using Criterion A: Knowing and understanding, Criterion C: Communicating and Criterion D: Thinking critically.
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SOURCE O
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‘As in the rest of the world, the factory system in Japan meant much misery. Since machines could be worked by women, and even children, there was no need to employ men. This majority of factory workers were women, working up to fourteen hours a day in some cases, without regular lunch or rest periods. Child labour was used, discipline was harsh and diseases like tuberculosis and beri beri were common, and there were some appalling industrial accidents. This was especially so in the coal mines, of course, where 2,000 miners were killed in one explosion in 1878. But it was also true of the factories, for safety precautions were few, and workers were often housed in dormitories above the flimsy wooden sheds in which they worked.’


Bolitho, H. 1977. Meiji Japan. Cambridge University Press, p. 46.
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SOURCE Q



OEBPS/OEBPS/images/1-1.jpg
Reflecting on our learning
Use this table to reflect on your own learning in this chapt

Questions we Answers we found | Any further
asked questions now?
Factual
Conceptual
Debatable
Approaches to Description - what | How well did you
learning you used | new skills didyou | master the skills?
in this chapter: learn? ~
5
¢t s
EREREAE
Communication
skills
Critical-thinking
skills
Transfer skills

Learner profile | Reflect on the importance of the attribute,
attribute for our learning in this chapter.

Knowledgeable






OEBPS/OEBPS/images/17-1.jpg
Shogun ‘
e ¥} )
- §111
~ 33999
R 1 1 ]
e R R 101

u Figure 1.12 The feudal system by the middle of the
nineteenth century; although there were fewer artisans
than peasants, they come below the peasants on the
diagram as they were considered lower in status





OEBPS/OEBPS/images/19-1.jpg
showing Perry's steamship (bottom right of the coast of Soshu (bottom

left) and various Japanese coats of arms (tc blished between 1850 al





OEBPS/OEBPS/images/title.jpg
MYP by Concept

4&5

story

Jo Thomas
Keely Rogers

& HOPRRR

AN HACHETTE UK COMPANY

DYNAMIC
lm





OEBPS/OEBPS/images/cover.jpg
MYP by Concept

485 @






OEBPS/OEBPS/images/9-1.jpg
E An illustration from a book
called The Adventures of
Michael Armstrong, Factory
Boy, published in 1840.

It was written by Francis
Trollope, who campaigned to
stop children working in the
factories

F Mr John Moss, who was in
charge of apprentice children
at Backbarrow Mill, was
questioned by a Parliamentary
Committee at the House of
Commons in 1816






OEBPS/OEBPS/images/8-1.jpg
Formulate your research question (you could
discuss this in pairs or with the whole group).
Briefly explain your choice of research question.

Plan your investigation. Write a brief plan of how
you will research your question, and what initial
themesfines of argument you will inves

Gather, record and document the sources of relevant information,

* Use one standard method to collect and record your sources —
for example, the Modern Language Association (MLA) citation
style. MLA is a recognized method for acknowledging sources
used in a research paper. Citations are put in the text of a paper
and these link to the ‘works cited’ list, collated alphabetically at
the end of the paper. For more information on MLA, visit this
website; www.library.cornell.edu/research/citation/mla
Collect diagrams and images to show how your invention works.
Note down all the benefits and strengths of the invention, any
quotes from users, etc.

Set down how you reflect on the research process.

Allocate tasks within your group — make sure that everyone
knows what he or she is doing to contribute to the task,

~_—

Figure 1.8 Planning and communicating research





OEBPS/OEBPS/images/15-1.jpg
Total number of MPs 4 Boroughs that had only a small electorate

England 489 4 Industrial towns with no MPs

Wales 24

Scotland 15 'f

Jreland 100

658
A ,g The two counties.
3 coloured in yellow
v ’} (Yorkshire and

Rutland) were

0 250 km 2 each represented
by two MPs

Ireland
100 MPs

More than half of the
203 boroughs were in
the area coloured orange.
50% of all MPs were
elected i this area






OEBPS/OEBPS/images/7-1.jpg
m Figure 1.7 Old Bess is the oldest surviving Watt engi
and the third-oldk urviving beam el It is now
housed and erved in the Power Gallery of the
Science Museum, London






OEBPS/OEBPS/images/rules.jpg





OEBPS/OEBPS/images/5-2.jpg
=
£
=
£
=3
A
3
2
=
=
i
[ ]





OEBPS/OEBPS/images/6-1.jpg
Richard Arkwright, who was a wig-maker from Preston,
invented the water-frame. This was another spinning
machine but was powered by water. It was too big for a
house and so he built a mill at Cromford in Derbyshire; this
was the first factory.

Figure 1.6 Timeline for key inventions in the textile
industry

John Hargreaves in
6 spindles but

Edmund Cartwright invented a power loom which could
speed up the work of weaving. However, it was not until
the 1820s that this was able to work efficiently and
produce good dloth. As a result of this invention, the
hand-loom weavers were gradually put out of work.

The weekly earnings of weavers in the town of Bolton fell
from 25 shillings in 1800 to 5 shillings in the 1830s.
Thousands lost their jobs and had to join the ranks of the:

unskilled poor looking for jobs in the new factories.






OEBPS/OEBPS/images/5-1.jpg
Population Raw materials

Why did the
Industrial Revolution
start in Britain?

Transport

Entrepreneurs
and inventors

m Figure 1.4 Why did the Industrial Revolution start in Britain?





OEBPS/OEBPS/images/10-1.jpg
m Figure 1.9 An illustration from a book called The
Adventures of Michael Armstrong: Factory Boy, published
in 1840. It was written by Francis Trollope, who
campaigned to stop children working in the factories





OEBPS/OEBPS/images/3-2.jpg
® Figure 1.3 Leeds in 1850





OEBPS/OEBPS/images/11-1.jpg
JALLLLL.

Why dil_you let 90 f) NSV K fingers were so cold I could =\
= Spentle” you youmg Solle ot hold o - 0'dear * pray domot Kilwe N
- 0"y back 10 dear ! pray prgurve’y

{Liij}‘ v o b work
L;‘? Gl 3 2
)

Figure 1.10 ‘English factory slaves’, a cartoon by Cruikshank from the early
nineteenth century
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Figure 1.17 Ring spinners in a cotton factory in the north of England, c.1890
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Figure 1.16 Japanese people began to adopt Western
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